Lectwre T .

PYOb{em l :

v
Show Soer—I — ngn

v
SOzn = Sp

2n .

Prablem 2 Show L G >
A 2

Yy = < 2P, Xy

-2() = Sum vj[ Pog ctve Yoots

obl |
Problevn 3. (LWSZt‘J €m!aco(o(\'nj>
Cl: QL -
v 2P e NS, eney
/Vn = n xn Mw‘(-l?o’(ivnt IMatYCCeS —\7
X.(,() = i(,\l)\,,)x,,)fén
@. oA m /1/),\_: <2€1 (no - . > _ { N 2 ?)&hj\
L 0D = hty\.“l)‘
O . P o
X (g, 0 ekl

B ¢ oy G~
| /Q = (.-)\-1,"'; ’\7\) )Z*\.’:V\,)\'L\%‘

hCL?o'(:en{; ovbit co-f tan X~

N
@ Clyo) [ » g
CBes 8 g el am UE s
5{"'\‘“6‘@\*\[/ J/ 4
Y€ Solutvon
o, e (210
L Gy*

@~ IC(,(,O) * lcu,o? = lCCZ,o) @ lCc(,(),



@ (Q,(,Cw(ate we{?h‘t SFa.ces o]‘

*LCa)? H* (¢ GYG' I1C(200) @
H*(C‘YG, LC o).

[AVE)}

andl ComPou/e wth

Litoyw Lo 22 ) (2,00® L,



